[ Efficiency vs vertpos |

= 0.5
0.45F
o F
S, 04F
2 E
50.35E
g .F
$ 03
0.25E
0.2F
0.15F
0.1
0.05F
o O
® 1.2
o [
-

1072 1 10 0?
TP vertr (cr%)

—=— DQM_TT__original

Effici —e— DQM_TT__originalCustomized
iclend _, DQM_TT__nocutCustomized

~ 0.5

o s A
n E : : : : :
L, R SR URERE SR SRPRE S

-30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.5p
> E
0_045:— -------------------------------------------------
e o
175} 0.45—
20.35F
5 E
c 0.3
9 o
:,:025;—
0.2F
0.15F
0.1
0.05F
5 i
[ r H
0.9F-----5---
05515 =10 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


